Cless # \§F -  “Tves, Oc+ 22

a—

. Oled Bledload F— yov
Sreded Quizgyes + e+

Py

—

S

Mview e solh>

aview W/ textbal
(es S

- t.,,,)r;trc-—ﬁmul.-. —s WW

_ w\_, ,t zu.év‘.\s‘c Pl’»mia'f
y = ax*+bx +c

dscs s
Avo 1 +
“Twes

T,



WeeWarl scledalz

e

" Souerc Rosst '\?mf..ﬁ-_(

= Qeass Q“'""Lf /C(ﬁo
(Lo s +TFi ¢

r\:})
>
} 6’/ ) (§VYPOI2) L 4 Frale’ .

"

b —

wc S&OS vs e Mﬂ (

e 1!9"-!—‘—‘1 ‘Q@‘h.-‘:-‘-——ﬂfz"' bx ¢ =0\
T Ceslohae 7

| (2) Wheve di) iv cowe 115.&. N

: Prit Ve sakes fl ax bx 4 =
® V‘A:(”H’“\'»(’T'& St " (s“ Closy #\b)

W




wtm . q-ekﬁmwk%
v - Mbk ‘= -
;\‘ev' ‘l"'.)i - e opebim B4 8246 =0
@ Tdeaity a,b, e sfe el =D
as= =

g, b -15- , €= 6

g
k.yue‘ i bl-' Yac

1w
P (’L) ?‘“ﬁ M Nose Vowes { c, b c =|51—”q(‘3)(6>
=ass-192

\V e
Cx,vav“v*"/- wo e QF
m?"/w ‘b*J = =
S = £Jb ~Hae -

e 5 2 Va5 T
sl (P
— - el 33 _ ?Cﬁv\."’h

A =. s.\-.pk[aoa.




Asties vesie 4 QF 2( .

et
Sowve O ==Fx*-15x +\

== b=-I1S <¢c=1

SR r—s C‘a QF3
..(..|§)4-\Y(.-|s) '-{( ?)(1)
2(-%)
. Isxzdaes +23
- -Y
=15+ ﬁS‘B/‘T__ s ( zs?)
"“..ni_ SR U
o R . Y 4:_
14 = 1y



WW, QF , #2-

£ 146 - 4(1)(2%)
2(4)

-—

4+ | \aL - 392
B -

+18 =0

(wl-m' g U= F)

4t | —seelte  IHEiJamome

—

\!

5. 2—
M+ei(w) ,
— =L?i*?c_z




